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(variable) = ‘ (expression);
x = 10; // 10 X
y = X; // X y :
z=2*x+y; // 2*X+ty Z
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X+2=0; // I
2 = X; // I
X=Xxt+1; // x







/* */
#include <stdio.h>

int main(void)

{
int X, y;
x =1,
printf(" X+1 %d\n", x+1);
printf(" y=x+1 %d\n", y=x+1);
printf(" y=10+(X=2+7) %d\n", y=10+(x=2+7));
printf(" y=x=3 %d\n", y=x=3);
return O;

}
X+1 2
y=x+1 2
y=10+(x=2+7) 19

y=Xx=3 3
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Xy

Xy
y=m*x+Db

y = a*x*x + b*X +c

m=KxX+y+2)/3

X+y
xX-y
xX*y
x/y
X%y
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//
#include <stdio.h>
int main(void)
{
int a,b;

printf("
scanf("%d", &a);
printf("
scanf("%d", &b);

printf(*'%d + %d
printf(*%d - %d
printf(*"%d * %d
printf(*%d / %d
printf(*%d %% %d

I ¢

:"); A 2+3 5
2-3 -1
2*3 6

%d\n", a, b, atb); |£75 0

2%3 2

%d\n", a, b, a-b);
%d\n", a, b, a*b);
%d\n", a, b, a/b);

%d\n", a, b, a%b);
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//
#include <stdio.h>

int main(void)

{
printf("3/2 = %d \n", 3/2); //
printf("4/2 = %d \n", 4/2);
printf("5/2 = %d \n", 5/2);
printf("3.0/2.0 = %f \n", 3.0/2.0); //
printf("4.0/2.0 = %f \n", 4.0/2.0);
printf("5.0/2.0 = %f \n", 5.0/2.0);
printf("3.0/2 = %f \n", 3.0/2); //
return O;

}

32 =1

42 =2

5/2 =2

3.0/2.0 = 1.500000
4.0/2.0 = 2.000000
5.0/2.0 = 2.500000
3.0/2 = 1.500000
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//
#include <stdio.h>
#define SEC_PER_MINUTE 60 // 1 60

Int main(void)

{
int input, minute, second,
printf(" (32 )");
scanf("%d", &input); //
minute = input / SEC_PER_MINUTE; //
second = input % SEC_PER_MINUTE; //
printf(*"%d %d %d . \n", input, minute, second);
return O;
}
(32 ) 70

70 1 10
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= -10;
y=-x; //

y
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x+=1
X*=5
X-=y+1
X*=y+1
X+t=y/z
X%=X+Yy

// xX=x+1

// X=x*5

// x=x-(y+1)
/7 Xx=x*(y+1)
//X=x+y/z
/7 X=X%(X+tYy)

X +=y X=Xty
X-=Yy X=X-Y
X*=y X=X*y
X/=y X=x/y
X %=y X=X%y
X &=y X=X&Y
X|=y X=x1y
XN=y X=X"Ny
X>>:y X:X>>y
X<<:y X:X<<y




//
#include <stdio.h>

int main(void)

{
int x =10,y =10, z = 33;
X +=1; // X =x+1;
y *=2; /1y=y*2
Z%=x+y;, /[/z=2% (X+tYy); I
printfF("x=%d y=%d z=%d\n", X,vy, 2);
return O;

}

x=11 y=20 z=2
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#include <stdio.h>

int main(void)

{
int x = 10;
printf(" X++
printf(" X
printf(" ++X
printf(" X
printf(" X--
printf(" X
printf(" --X
printf(" X

}

: %d \n", X+4);

: %d \n", X);

: %d \n", ++X);

: %d \n", X);

: %d \n", X--);

: %d \n", X);

: %d \n", --X);

: %d \n", X);

¢

20




AN




double T:
=10 + 20;

//f

30.0

inti;
| = 3.141592;

/71
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#include <stdio.h>
int main(void)

{
char c;
inti;
float T;
c =10000; //
1 =1.23456 + 10; //
=10 + 20; //
printf("c = %d, i = %d, f = %f \n", c, i, T);
return O;
}

C:\CPROGRAM \converti\convertl.c(10) : warning C4305: ‘=" truncation from
‘const int ' to ‘char '
C:\CPROGRAM\converti\convertl.c(11) : warning C4244: '='. conversion from
‘const double ' to ‘int ', possible loss of data

c =167/ =11, f = 30.000000




char short , int

char x = 10;
short y = 20;
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//
#include <stdio.h>

int main(void)

{
char x = 100:;
char y = 100;
char z;
Z=X+Y,;
printf("z = %d \n", z);
printf("x +y = %d \n", X +y);
return O;
}
z = -56

X+ y =200
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int= 0|
double® =
g2 ==
CF.
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T 1.2345

double

=
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(type cast):

( )

(double) (5)
f = (double)i + (double)j;
T = (double)((int)y + 3);

f = (float)(x = 5): // x=5 5 float
| (doubTe) ), .
5.0

==E



N =

S

8.

inti;
double fT;

f=5/74;

T = (double)5 7/ 4;

=5/ (double)4;

T = (double)5 / (double)4;

i=13+18:
i = (int)L.3 + (int)L.8:

N -

~

o 01 b W

o b~ o1~

4

1.3+1.8 3.1 [
(int)1.3 + (int)1.8 1+1 i 2

S

f 1

f 125
f 125
f 125
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0)

(1)

X==Yy

XI=y
X>Yy

X<y

y
y

X >=

X <=



1 == /[l 2

11=2 /Il 2

1<=2 /[l 2

1< 2 /Il 2

(1+2) == (1*2) /1 (1+2)  (1*2)

X>=y /II'x 'y

| == 10 //i 10

k>3 /lk 3

m!=6 //fm 6

int bool,

bool = (3 == 5); // bool o)
bool = (3 == 3); // bool 1
bool = (5 ==5) + (6 = 1); // bool 1+1=2
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1. #include <stdio.h>

2. int main(void)

3. {

4, int x=10, y=20;

5. int rl, r2, r3, r4;

6.

7. rl = (X ==vy); //
8. r2=(X!=y); //
9. r3=(x>=Yy); //
10. rd = (X <=vy); //
11. printf("ri=%d \n", rl);

12. printf("'r2=%d \n", r2);

13. printf("'r3=%d \n", r3);

14, printf("'r4=%d \n", r4);

15. return O;

16. }

ri=0

r2=1

r3=0

r4=1
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&&

(1)

X && Yy

x|y

AND
OR

NOT
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X ORy NOT x

X AND y

Ix

x|ly

X && Yy
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( ) NOT
10 // 0 1
13 // 0 0]
1100 // 0 0]
1-3 // 0 0 :
IX // X o) 1,0
I(x +1) // (x+1) 0] 1,0 0]
I(X>y && X< 2) // X>y && X<2Z 1,0
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18& 2 // 0

(1==2) && (2==2) //

(1==2) || (2==2) //

(x>10) && (x<20) // x 10 20 .

(x>10) || (x<20) 7/ x 10 20 ( ).
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//
#include <stdio.h>

int main(void)

{
int x=10, y=20;
intrl, r2, r3, r4:

rl = (x==10 && y == 20);
r2=(x==10 && y == 30);
r3=(x>=10 ||y >= 30);
rd = (x == 5);

printf("r1=%d \n", rl);
printf("r2=%d \n", r2);
printf("r3=%d \n", r3);
printf("r4=%d \n", r4);

return O;

¢

0

ri=I1

r2=0
r3=1
r4=1
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o | ++ -
e && ||

e && |

Xx<0 || x>10
x>5 || x<10 && x>0 // x>5 || (x<10 && x>0)
(x>5 || x<10) && x>0




100
400

//

#include <stdio.h>

int main(void)

{

int year, result;

printf(" )
scanf("%d", &year);

result = (year%4 == 0 && year%100 != 0) || year%400 == 0O;
printf("result=%d \n", result);
return O;
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(2>3)8&& (+Xx<5)

(3>2)]] (--x<5)

++ -




expl exp2 , exp3

expl ? exp2: exp3

exp 10l oIt
\ exp 10l HAloIH
exp ? exp2 D) exp3
(5>2)?5:2 //5 2 5
(12>11)?21:0 //12 11 1

(x==0)?100:200 //x O 100 200
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#include <stdio.h>
int main(void)

{

int X,y;

printf(" =");
scanf("%d", &x);
printf(" =");
scanf("%d", &y);

printf(" =%d \n", (X>y) ? X :Y);

printf(" =%d \n", (X <y) ? X :VY);
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X=1, y=2;

X = (2+5, 5-3);
X = 2+3, 5-3;
X++, Y+

printf("Thank"), printf(*' you\n");

x=1; y=2;
X=2
X=5
X y 1

Thank youl!
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size_t n = sizeof(int);
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#include <stdio.h>

int main(void)

{

int i;
double f;
size_tn;

n = sizeof(int);
printf("int

n = sizeof(i);
printf(" [

n = sizeof T;
printf(" T

=%u \n", n);

=%u \n", n);

=%u \n", n);

int
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— (x<=10) && (y >=20)

- X+2==y+3
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#include <stdio.h>
int main(void)

{
intx=2,y=3,z=4;

printf("%d \n", 2 + 3 >= 3 + 12);
printf("%d \n", 2>3 || 6 > 7);
printf("%d \n", 2 || 3 && 3 > 2);
printf("%d \n", - ++X + y--);
printf("%d \n", Xx=y=z2=6);
printf("%d \n", (x =2 + 3, 2 - 3));
printf("%d \n", X /=X=X*y);
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